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Perhaps it is the giving of the v — K77 B2 DIN3 RAPIT

OVERVIEW

The X713 concludes that when the 770 writes 77°2 1011 by a b3, it does not mean
that he must give her something of value, but rather that he merely must give her
the vx (even if it 1s VD MWK NIND). NMBOIN discusses whether the term 771°N1 means
giving something of value.

— 19 25057 23 YY GN NVIND MY 192 NY C1mm) 1NPIY 109 1993 WIN 5 199
And similarly regarding the P09 of 1¥a% 01 W1 WO 79w — a person would
remove his shoe and give it to his friend; there is no requirement that the item
with which we perform 1°°%17 11p should be worth a w12 even though the 109

writes JnIY (supporting our X713 that even if it says 1011 there is no requirement for a 70D MW)-
— 17199 o o931 29197 22 DY 4N 2991 NN HIVID NNNX HVN HMVIIN 2) 1)

And similarly regarding 77190, the rule is that one kernel of wheat (which is set
aside for 7m17n) exempts the entire heap of grain even though concerning 7170

it is written ¥ Jnn nevertheless there is no requirement of a 79 7W; one v is sufficient -
— 9V 1 PN sﬂ?”ﬂﬂ MINnNay 43'\N\?ﬁ 09 MIiNN

And there is no set amount by the placing of the nxwvr blood on the ram or by

the placing (of blood and oil) on the thumbs even though the term 7°n1 is mentioned
there —

mooIn anticipates a difficulty:
— YN DIRY 91 (3,35 97 onoo) NYY DI P99 DINY NAN 9INT NI

And that which 982 XaR ruled in 7w »> p2» that a non-377> who ate ;72190 -
— NV MHVYN MNDA 2N NY

Is not liable to pay the extra w»n if it is less than a 7w"p MW -
— VY99 MIYN NN NI PRI 99N )N 1NN (Cas xap») AONIT DIVN

Because it is written (concerning a 71170 228w 77), ‘and he shall give to the 1712°,
and there is no giving if it is less than a Y99 W5 this seemingly contradicts what

"'We derive 1°9°%1 PIp from this p105.
2 poo.
3y o2 where it reads: 17 Jnn "3 T WD AT WK (referring to amn [see "wA there nwRa A"7]). See
‘Thinking it over’ # 1.
45 )M (regarding a nXur) the 109 reads 7297 72171 NITP 5V 1NN WIARKR TATA 1797 TR0
7 (¥ME) XAp) reads: a1 1937 172 A T 12 N DY 30N QWK 2T 1197 1P9Y. And in P pioo it reads: "3 pawi 0o
37 1939 3772 51 A1 1T 12 B3 A 1o .
69 P09 reads WP DR 1797 1011 YOV INPWHN N0 MR WIp 29K 3 WK (referring to m1n [see *"wA there *3 17"7])
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(the X713 and) nMvoIN are saying that 1011 does not require a 7N MW —

mooIn responds that 77N payment is unique -
—"nYum mvunmn 199955 NYIN MMDYNT DIVN 139N

That is because we derive the laws of 72vn payment from the laws of m%u»
payment -

— 51401 BN LN S99 PN VP MMIDUN 11N INY
For both of them are w7 payments and are derived from each other through
the MW 77°72 of X Xwrw —

mMooIN anticipates an additional difficulty:
— 15192 NN XANY 91 9y 1m0 1N GUNI (3 91 N0 Y¥aT 91:«:51

And according to the one in nns9> noon, regarding the prohibition of n° WK
27 H¥ u»» (concerning rubbing someone with the nnwni 1Y), who requires that

the placing of the Inwn 7MW must be a N312 in order to have transgressed the prohibition;
indicating that the term 712°n1 (here 1n°) requires a N°13, in contrast to what M50 here maintains —

mooIn responds:
— NN NY0T MYNWNM PIAND NN PYWIA NPANI N¥N NIYDT DIVN 199N

That it because placing ¥ on someone is commonly referred to as 2%
(anointing), so since the oo utilized the expression of 719n1 (which is
inappropriate for smearing oil), we must conclude that the P05 came to change it

from the meaning of 17570 -
— NAIYN NN TEI8 NINY DD ynwnT

Which (72°0) would indicates even a Xy 93, but rather that it requires a
significant giving which is a n’r> -
— Mo)NY NAINT 19299 19193 99107 (23 x9py YTPN ON 1799 11 M5

7 By mwn the 70 writes (70,7 X7p) that "\ D2w° "3 Xun WX NXY; indicating that it is a monetary payment,
therefore it must be a 7v1Nd Mw. See 77 7°. However by im0 it merely states 7°n1 (not Pm?wn) [and there is a
requirement that he should return food which will become 7m17n] nonetheless, because of the 77°van Xon Xon W',
even MmN "MW are required only if it is a 7vND MWY.
¥ Regarding N it is written in 2% ,7° (77p) 72722 that Xun 15y Wwn X9, and regarding 72 it states in 10,7 X1p"
that 2% 50 W AN DRI QYW WIPR 11 XU WX XY We derive laws of 7m11n from 739°¥n and vice versa.
? This is the view of 7717 " (as opposed to the view of »" who maintains that he is 2711 even if it was a X17w 93).
19 35— 29,5 (xwn) mnw regarding the Amwni 1w reads: PAYH N1 TT 5Y 1R N7 TR N TO° XY DX WA DY,
' See 2,75 0'noo where the 1337 (who argue with 238w XaX) maintain that there is no wmn 211 by a 770 %a8w 7 for
less than a n°15 since the (72,22 [MMK] XIP7) P109 states WIPA NR 1737 1NN 1Y WA 0N T332 WIP 2IK° D WK1, and
720K is not less than a n°1>. We are therefore forced to say that the jn in that 7109 means at least a n>13 (even though
1NN generally can mean a w"2). The 105 by writing 998° teaches us that this 71°n1 must be a 2wn 137 (a n°1d);
similarly by 1mw 707 since the 70 changes and writes 712°n1 that teaches us that it must be a n°132 72Wwn 7101
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Just like according to the 3127 who argue with »I8w Xax that w7p7 N 3729 300

must be a N°2; here too by 12w 707 it also must be a n°13 -
— 9 I8N (x,0 91 MNINN Y P97 1203925 199y 19 XD 199

And similarly concerning the prohibition of 7212% 9%¥ 0> X% — he should not
place frankincense on a X0 nnIn — the X3 in Mm% P99 requires that he

place a 111127 N2 in order to transgress the MO°X of 71127 7Y 1N° XY -
— )PV DYDY DIYWI XY N2 DINNNT NNYY PYUHN 1IYT 0IVN 19N

That is for the same reason; since the 7105 changed for the expression 22 with

which the P05 began 2w 7199 2% X% and concluded with 10> therefore the change
allows us to require a n°12 of 7N2% —

mooIn offers an alternate explanation why a 711127 N1 is required to transgress the Mo°X of 1n° K7
% oy
B 9193 %01 OON NYOPN 923 NNHNT YINA NNAY NIVPNT NINT DIVN IN

Or because this is similar to burning m12% outside the p"»7°2, which is also a

prohibited 19wp7, which requires a n°>, therefore the 71127 7°%¥ 10> X2 on a X7 NAIN
also requires a n12.

SUMMARY

Generally when the 770 writes 712°n1 there is no requirement for a specific amount
(like by M2y 017 100,700 ,10°%1 ,03). There are exceptions such as 717 7170
712% NN 72°0, but they have special o 7%.

THINKING IT OVER

1. moon proves that 71°N1 does not require a specific amount since NV NAX 7Y
1371 X, even though the 771N writes 17 1nn."* Seemingly however the rule of 7vn
91 NnX is regarding the 217N nwoon, while 17 100 discusses the giving of the 170
to the 172, which is seemingly separate and distinct from 72170 nwdR. How does
'03n prove that 71°n1 does not require a Ny*w from N nwoa?!?

2. Why does mooin offer a second answer regarding 72> 7oy jn> 852'°

"2 The 109 in X,71 X" (regarding a X0 [nan of a 71 79 127p) reads NRVA *2 AN2Y 7999 100 K9 1w 0¥ D00 &Y
X7
3 There is a general rule that n>12n NI 77VRA TR, See [2,bp 0121 and] W 7"7 2,33 M 'oin.
4 See footnote # 3.
15 See 3yn MR *"2 and [77702 7N AwAS7A 17IvA] DR NONA.
1 (2% 100 — 1w 2w°) D17 '3 MW P (N WK — TOY XY) AT INRD MDY P2 PRI W ONNT.
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